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ECONOMICS
( Major )

Paper 1 1.1

( Microeconomics—I )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
©orS AR PotrEif Tes fm

{a) The word ‘scarce’ is closely associated
with the word ‘limited’.

( Write True or False)
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(2)

(b) State the law of diminishing marginal
utility. o

TEPEF aifee Tecaie Rido o

{c The Engel curve for a Giffen good is

( negatively sloped/positively
sloped/vertical/horizontal )
. (Fillin the blank)

e w99 GgE e |
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(d}- What is income effect?
o Rere e 2
(e) The fall in the quantity demanded of the

commodity, when its price falls is called
paradox.

( Fill in the blank )
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() Give the meaning of market-demand
schedule.

oI SR we o o
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(3)

(g9 What is expansion path?
TerRd YL 2

(h} Total cost is the sum of total fixed cost
plus total variable cost.

( Write True or False)

P R W ue PRSI Qe
ekl
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() What is the shape of the average

revenue curve  under perfectly
competitive market?
o afScafienEs 3T 9T UH @R AR
CPUTE?
() What is marginal rate of substitution?
2% AfTETT =9 A R 2
2. Answer the following questions : 2x5=10
TR PRI e o
{a) What are stable and unstable
equilibriums?
IR O SHT ST R0
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(4)

(b) Mention any two measures through
which government intervenes in the
market.

TR CFR AR IR IR W R @
7Ry TR w0

{c) State any two assumptions of
indifference curve analysis.

Feers @3 Remr R @ 4o i B )

(d) What is the basic difference between
utility approach and the indifference
curve approach to consumer demand
theory?

Toerer SRMRRY crae Soarer R
T FRrE Q1 RemwR S 4@ Ay ey
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(e) What is production-function?
Beom-va R 2

3. Answer any four of the following questions :
S5x4=20
oo R e wildbt o Ty i

(a) Describe the concept of opportunity cost
with examples.

TR TRRS TS0~ YREB1 36 <o |
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{b)

()

(d)

(e)
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(5)

“A higher indifference curve gives higher
level of satisfaction.” Explain with the
help of a diagram. '

“ g B FICeTT @41 O B9 TR i 1
four e I F+10

Distinguish between- fixed cost and
variable cost.

3 I O ARIEANeT I TR <N o

Draw a long-run average cost curve and
explain its nature.

R T ({4 D IR OF o
L . '

Briefly state the different types of
returns to scale.

ffen o oo TR Rea wiie Sy
FH) '

What does the law of variable proportion
indicate? Discuss in brief.
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(6)

4. Answer the following questipns : 10x4=40
o4 AR Ted i
(a) Explain how scarcity and choice lead to

(b)

20A/369

economic problems. 10

word W X R AT s R
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 What is eqﬁilibfium? Describe static,

comparative  static

equilibrium. .

and dynamic
1+(3+3+3)=10
o wWE WA 0 RSN, g

- et o SNt ST W 6 40

Explain the concept of consumer’s

surplus with the help of cardinal utility
approach. , 10

STER_TTET R SRYASE B
Reeme >=2we m 4 |
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Describe consumer’s equilibrium with
the help of indifference curve, 10
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(c)

d
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Explain how least cost combination of
inputs is attained with the help of
isoquants and isocost lines. 10

THSATA (A WF TFRA @R TS s
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Or / q[r
Describe the economies and
diseconomies of large-scale production.
5+5=10

ﬁam%qwﬁwﬁ@lwwﬁm S
I T

Explain the relationship between

average revenue, marginal revenue and
price-elasticity of demand.

T W, AT W R SRR W-RfSwrreR
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10

Or / 53Ry
Explain how profit is maximized with
the help of revenue and cost analysis. 10
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